Cll# Phép chia

Ho va Tén:
Giai cac cau hoi. Cau tra loi
D) 406:3 = 2) 696:3 =
1.
2.
3
3) 90:2= D 54:2 = 4.
5.
6.
7.
5) 696:8 = 6) 26:4 =
8.
9,
10.
7 63:8 = 8) 504:7 =
- 11.
12.
9 298:5= 10) 52:2 =
11) 605:7 = 12) 256:8 =
1-10 [92[83]75[67]58]50[42[33[25]17]
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Giai cac cau hoi.

3 90:2=_ 45

5 696:8= 87

Phép chia Ho va Tén: L0l gial
Cau tra loi
1) 3= : 2)
406:3 = _135 dul 135 dul
2. 232
3. 45
4) 4, 27
5. 87
6. 6 du2
7. 7 du7
6)
8 72
9. 59 du3
10. 26
7 Q = 8
) 63:8 7 du7 ) L 86 du3
12. 32

9 298:5= 59 du3

) 605:7= 86 du3

10)

12)
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